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(*) Instructions to candidates:

1) Answer Q.1 OR Q.2 and Q.3 OR Q.4.
~~~ 2) Figures to the right indicate full marks.
3) Use of scientific calculator is allowed
4) Use suitable data where ever required
Q.1) | a) | Correct Sketch of the sequences y[n] 6 Marks
Correct Sketch of the sequences z[n]
Correct Sketch of the sequences w[n] 2 Marks each

b) | correct ans with appropriate steps 2 Marks each 6 marks
i)2 ii) 2 iii) 1/2
¢) |Finding T1 and T2 1 Mark 4 marks

Ration of T1 and T2 , finding periodicity 1 Mark
Finding Fundamental period 2 Marks

OR
Q.2) | a) | Sketch the signal x(t-1) 1 & %2 Marks 6 marks
Sketch the signal y(-t) 1 & % Marks
Final Ans 3 Marks
~ b) | For Correct Even and odd components 1 & % Mark each 6 marks
¢) | Correct mathematical expression 4 Marks 4 marks
a) | Identification of system 2 Marks 6 marks
Q.3) sketch input x(t) 1 Mark
sketch corresponding output y(t) 3 Marks
b) | Each classificiation with proper justification or solution 4 marks
1 Mark Each
¢) | The meaning of causality 2 Marks 4 marks
Classification with proper justification 2 Marks
OR
Q.4) | a) | Stable and Causal classification 1 Mark Each 6 marks
Linear and TV/TIV classification 2 Marks Each
b) | Defincation of Static System 1 Mark 4 marks
Each classificiation with proper justification or solution
1 Mark Each
c¢) | State superposition principal 1 Mark 4 marks

Classification with all proper steps 3 Marks
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